SE377S ALUMINUM SHOT/HAMMER CIRCLE CROSS BRACING
(FOR 3/4" DEPRESSED PAD)

SPECIFICATIONS

. Designed to reinforce either a SE376S or SE376D throw circle

. Consists of eight pieces of reinforcing angle fabricated from 1.5" x 1.5" x 0.25" Aluminum 5052-H32
and one 0.25" reinforcing bolt hub.

. Meets NFSHSA, NCAA, and IAAF specifications

SE 376S SHOWN FOR
REFERENCE. SUPPLIED
SEPARATELY

MOUNTING HOLES
FOR SE376D
1/4" HEX BOLTS J

AND NUTS

SECTION A-A

REINFORCING
BOLT HUB

\\

PRODUCT DETAIL © 2018 ABT, Inc.

(J
/? SportsEdge’ SE377S ALUMINUM SHOT/HAMMER CIRCLE CROSS

A Division of ABT, Inc. BRACI NG

P.O. Box 837 / 259 Murdock Road

Trout ,NC 28166 .
" (800) 334-6057 PART: SE377S

REV: 00
6/20/2018

Proprietary rights of ABT, Inc. are included in the information disclosed herein. The recipient, by accepting this document, agrees that neither this document nor the information disclosed
herein nor any part thereof shall be copied, reproduced or transferred to others for manufacturing or for any other purpose except as specifically authorized in writing by ABT, Inc.

DISCLAIMER: The customer and the customer's architects, engineers, consultants and other professionals are completely responisible for the selection, installation, and maintenance of any
product purchased from ABT, and EXCEPT AS EXPRESSLY PROVIDED IN ABT'S STANDARD WARRANTIES, ABT MAKES NO WARRANTY, EXPRESS OR IMPLIED, AS TO THE
SUITABLITY, DESIGN, MERCHANTABILITY, OR FITNESS OF THE PRODUCT FOR THE CUSTOMER'S APPLICATION. Copies of ABT's standard warranties are available upon request.




ASSEMBLY INSTRUCTIONS

1. Lay circle sections out end to end on a flat 2. Secure the reinforcing angles to the throw
surface. Check to ensure that the upper edges circle and the bolt hub using 1/4" x 1" hex bolts,
of both sections are flush with each other. Using washers, and nuts.

1/4" x 1" hex bolts, washers, and nuts, secure the sections

together.

THROW RING KIT
SE376S
SUPPLIED SEPARATELY

1/4" x 1" HEX BOLTS

AND WASHERS
SUPPLIED WITH
SE377S
\
1/4" X 1" HEX BOLTS / ASSEMBLY .
AND WASHERS y
SUPPLIED WITH / oL HUB
SE377S .
/ SE376S THROW CIRCLE \ ggg%LSIED WITH

SUPPLIED SEPARATELY

~ —

REINFORCING ANGLE 1/4" NUT
. SUPPLIED WITH SUPPLIED WITH
1/4" NUT SE377S SE377S
SUPPLIED WITH
SE377S

SHEET 2 OF 5 FILE: SE377S-00 PART: SE377S




FORMS PLACEMENT

1. Locate the center of the circle and the pad 2. Position the forms as shown. The top of the
with respect to the track and mark the required forms should be leveled 3/4" [19mm] above the
sector lines to properly orient the pad. desired throwing surface height. Rules require

the throwing surface to be on the same level as
the landing area.

EXAMPLE SECTOR
/ LINES

/)N\/// SIULY

//

CONCRETE BRICKS

CONCRETE FORMS———

[/

JI/ JILLY

NOTE: ORIENT CIRCLE TO THROWING SECTOR

NOTICE: All installations should be done by experienced contractors and in accord with all applicable codes, laws
and regulations. Suggested installation instructions herein are illustrative only and should be adapted to suit local
requirements. SportsEdge is not responsible for the manner in which these products are installed.

SHEET 3 OF 5

FILE:

SE377S-00 PART: SE377S




requirements. Drains must not interfere with the

athlete's throw.
circle. Finish pouring concrete outside the circle

2. If required, install a drain. Position the drain
to the top of the circle or to the required level for
an artificial surface.

to the side of the circle according to local
3. Pour and level concrete in the center of the

circle 3/4" [19mm] below the top edge of the

INSTRUCTIONS FOR SETTING CIRCLE AND POURING PAD

1. Position the circle in the center of the forms

as shown in section A-A. The top edge of
around the circle, the top edge of the circle must

the circle must be held even with the top of the
forms. If artificial track surface is to be installed
be even with this surface. The circle forms
should be lowered to match the thickness of the

surface to be installed.

=
SRR R
SOOI NN
2R LU,
NN SOUATAIAN
AR R
VOV A NN

NN NP,
o
A A
B NNANA BN
NN DSONONON
2 2 S SEEK
¥ o R R
2 A
W E3 SR SR
Eooguw R LR

i Z NN RN
x & NS DUDIOIN
S O LA XA
> B8 AAININ INNANIN
o i KGR LR
22 MU TN

KKK KK
"o RN < R
W AN AN N BN NN
WO GRLLL RGN
h A S PR
T S SN Z N
L3 XEAKAK A
Aw < |T DI o R AT AIN
ou & SO IHD
=3 £ SSge Lu RS
cu 2w || UV B S8 LSS
B || 3E |
Foe 23 OOV = O AOAPAPN
wo ST XERAK Wy R
=Z aE OV 00O AN
09  z= XL (g XK
Qo = OOV o RS NN
S8 42 | R BRSNS O
) A w L RORORAR
Op  ZQ SOADAIA E2 | SRR
fz © RN o RO
gt 9 || RO g | [
z5 2z || U 8 22 [
AR o : LN
e AR E R RSN
=T KKK @ 4 KKK
x 9 DTN w NN
ow //\//\//\ = N //\//\//\
LT :/\/\\/\\/ w N 4/\\/\\/\\/
I UK 4 pz BEQURINA
DRI RN

% o) IR
MEEN L © LA
UKL RGN

KKK KKK
NN OOOINIIN

ORI, ORI,
NS XL
NN NN

SE377S

PART:

SECTION A-A

SE377S-00

FILE:

NOTE: FOR ARTIFICIAL TRACK SURFACES, THE DISTANCE THE CONCRETE IS FINISHED BELOW THE

TOP OF THE CIRCLE SHOULD MATCH THE THICKNESS OF THE SURFACE TO BE INSTALLED.

SHEET 4 OF 5




ALTERNATE INSTRUCTIONS FOR SETTING CIRCLE AND POURING PAD

1. Position the circle in the center of the forms
as shown in section A-A #1. The top edge of
the circle must be held even with the top of the
forms. If artificial track surface is to be installed
around the circle, the top edge of the circle must
be even with this surface. The circle forms
should be lowered to match the thickness of the
surface to be installed.

2X4 SUSPENDED
ACROSS FORMS

FORMS LEVELED 3/4" ABOVE THROWING SURFACE
HEIGHT FOR FINISHED CONCRETE OUTER SURFACE

3/4" PLYWOOD OR INSULATION
FOAM MOUNTED UNDER THE 2X4

2. If required, install a drain. Position the drain
to the side of the circle according to local
requirements. Drains must not interfere with the
athlete's throw.

3. Pour concrete outside of the circle and

vibrate thoroughly to ensure there are voids
under the plywood spacer. Finish pouring
concrete outside the circle to the top of the circle
or to the required level for an artificial surface.

A

FORMS SET FOR ARTIFICIAL
SURFACE THICKNESS

NUT AND BOLT HOLDS
THE CIRCLE AT THE
PROPER ELEVATION

e I i LK
o W s 7, Mo
ROANAN NN
R R R R R R R R R R R R R R R R R R R IR I

A A AN A N N N N N N N N N N NS NN N NN Ny e LLLLLK
P NN NN N N N N N N 2N N N N N N N N N N N N 2N NN NN NN N NN NN
SN NS AN IO SOOI IO SN AN
N NN N N N N N N N N N N N N N N N N N N N N N N N NN N N N NNV NN NN NI NONYINIIN
USE BLOCKING TO RAISE
THE 2/4 LEVEL TO THAT
OF THE DESIRED
SECTION A'A ARTIFICIAL SURFACE
CONCRETE
FORMS

ONCE THE CONCRETE IS "GREEN"
REMOVE THE 2X4's, BOLTS, AND
PLYWOOD SPACER‘\

FILL WITH CONCRETE BELOW TOP OF
CIRCLE FOR ARTIFICIAL SURFACE, SEE NOTE

—

\THOROUGHLY VIBRATE CONCRETE
TO ENSURE THERE ARE NO VOIDS

FILL WITH CONCRETE TO TOP OF CIRCLE
FOR FINISHED CONCRETE SURFACE

NOTE: FOR ARTIFICIAL TRACK SURFACES, THE DISTANCE THE CONCRETE IS FINISHED BELOW THE
TOP OF THE CIRCLE SHOULD MATCH THE THICKNESS OF THE SURFACE TO BE INSTALLED.

SHEET 5 OF 5

FILE:

SE377S-00

SE377S

PART:




